How many types of Accounts are there?

(A)
©)

(A)

Three (B) Four

Two (D) Five
SETEGSHET 6TSHSENE GUENSLILI(HID?

epay) B)  prans

@ren( D)  gbs

©

How many types of systems in Book keeping?

(A)
(©

(A)

Five (B) Three

One (D) Two
udleypann eTEHemeT uansLIL(HLd?

GEliE B)  epamy

e D)  Guew(®

(©

How many methods are involved in Accounting?

(A)
(©

(A)

Three (B) Five

Six (D) Two
SETEHE WO (penmsafle) TEHSMET cUans L _BIlL6TeTg)?

epemml B)  @bs

230 D)  Guew(®

©)

Balance sheet 1s

(A) Balance sheet refers to a summarized statement of assets and liabilities, which is
prepared generally at the end of the financial year to find out the financial position of
the business.

(B)  To know the selling and office expenses made by the Institution at the end of the year.

(C)  To know the Tangible assets, fixed assets and Liquid assets of the company at the end
of the year

(D)  To know the profit and Loss account of the company at the end of the year.

KUy fleows gluy erdrig

A)  @muy flows @iy g Cersgissmaryd Gurmliysamaryd GHSH Fmmbd 6
FMSSOTET AMEDHUTGD, Qg elbeunm Bl parOin @mniSuier swimt QeEuliL@b.m
Hyeuargdlen Hl8 flevawemw 2ibloisne.

B) o yargar @mHuied om Hneuasded CEuwliulL elpumers Cswe|ser LHMID
SDIIEEF CFDE|SHET MWCUSTELD

©C)  om Bncuasdear Loamgb Qansgissd, Hlaurar CFrssgsaser LHML QIT&sLOnsEs FaiglLl
Cemggisasamen MeUSTEWD

D) @i g Yudluiod on Hyaasdda Qor bl gos idluaspE
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5. How many types of assets are there?

(A)  Four (B)

(C) Five D)

Q&S 8I556T TEHSMEN UG (HILD

(A)  prang (B)

©) @b D)
6. How many types of Liabilities are there?

(A  Six (B)

(C) Two (D)

QUIMILILGET 6TEHENET GUanEHLILI(HILD?

@) = (B)

©  @ran® D)
7. How many types of Adjustment Entries?

(A) Ten (B)

(©)  Two D)

sflasl_Hb udle|s6r aTssman euansLILI(HID?

(A)  usg (B)

€ Qraw( D)
8. Accrued Income is

Three

Two

[y
Qe (h

Three

Four

gLpeuT)
BIen

Twenty

Thirteen

OIGINES
Ligla ey

(A)  Certain income earned may not received during the accounting years

(B)  Certain income earned during the financial year

(C)  Certain Income received in advance for services to be render later

(D)  Nothing but prepaid expenses
e Fnllg& QFausdu CFaweiard ererLig

@A) ENLAGLL @@ sTsdDE ML aUHLIRTID AESTOSSH DE (PpeTensTasl Gupliul L GTEL

B)  EOUGCL Qupliul L ei@mwreand oibBg Bllwmerge QupLLILL STELD

C) EOMAOLL Quplulc eumorend Wear Qewwliue Cauamgw GCouamads (el igGu

Quplinl L gm@mh

D)  wensmligF Qs Qsvalearsams $alr Goum ergiLsloane
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10.

11.

Closing stock is

(A)  denotes the goods removing unsold at the end of an accounting period
(B)  denotes the goods removing unsold at the end of the month

(C)  denotes the goods removing unsold at the end of the previous month
(D)  nothing but bad debts

Qoé Qoo eraug)
A)  qm sarsEH sty e elhuemer sTod SEE AHL &G, Qmd FrEsTs
SHSLIL(HLD

B) wresdHar @mHuie sarsSHin Curg srdelBHin #7éE Gnd sré&sTEL0
(C) pLUy wresADE e wrgsHe smdelHb FréE Qmd FréaTs smsLIL{HLD
D)  eurmssLamer gally Ceup erglldvena

Posting is

(A)  posting refers to the process of transferring the transactions recorded in the books of
original entry in the concerned accounts in the ledger

(B)  refers to enter the business transaction of day to day

(C)  refers to bringing two sets of related figures into agreement

(D)  noting by Trial balance

THSAS e eTaLIg)

@A) ENuCuligaid gmeanu gearCu@saian Lderdueaer pLeilgdmasdr CUGT g o M
ST &5 EHEE LTHPIL LFey Qaueug) wpeanCw eT(HSESPSH 4ED

B)  <emmrb pen QU cuenils BLeigsamsamw LiFe| QFlieugsm@h

©C) QmuEdsEpsEELD 2 6T QT craailEmaaml eern gl (Hb @ULBSTGLD

D)  @muy Camsamer Liligwied $al7 Coum ergidléened

Which of the following statements are not correct?
(A)  Bank reconciliation statements reflects the actual bank balance postion

(B)  Bank reconciliation statement helps in detecting any mistake in the Cash book and in
the pass book

(C) It prevents frauds in recording banking transactions

(D) It helps to know the profit and Loss of the company
Epeumeuareupmier orgl sflwmens) @deme erarans GMUIHSET epad Famias?

Q) eumdl sflsl(Hb uliguwe epebd eurkid @mLL QrTéssams <miu @wieib

B)  aumdl @QmuusEh Qrmés gliger Ligwrear @@Ubn@n e Cu Hlsphgidrer @ammeanu
SIS TGleumGLd

(C)  aumdlule augpsoms uHwiLBbD BLelgsamsuilad(hbgl LTEISTEEL0
D) e Bneagder TULD HagL b Samdsamns Meusn@E, 2 Seb
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12. Which are of the following statements are not correct in Reserve?

(A)
(B)

(©
D)

Reserve is an appropriation of divisible profit

Reserve provided to meet known and unknown future contingencies or unexpected
loss

Reserve as additional fund for Working capital

Noting but provisions

Epeu(meuaTeUDHMIET 6Tgl SeUPTET RFIGEMH Fams?

A)  sriy erarug @erugdled eh LUGHamw &S0 aeuliLSTEGLD

B)  sriy eamug e @D sTmsale erHiLTTEGL wLHMD erdiumprs Ceweiembsea
el (HeusnH @b Sbegl TS TUMITE BL L Sg et TClameTousn @D

(C)  smiy eranug) epFaisHHE g O HlHwns 2 gell Geuinb

(D) Qeumd gg&&lamL sefly Coumy ergiLflevancy

13. Which of the following statement are not correct in Sinking fund?

(A)  Sinking fund helps to repay a Long term liability

(B)  Sinking fund helps to replace wasting asset

(C)  Sinking fund helps to replace an asset of depreciable nature

(D)  Sinking fund is nothing but capital Reserves

ELpeu(meUETeLDMIET 6T SL6T SAenL_LIL| Fl& Mg ?

A)  sLar gLy fHlwreang far sre Qurmitienu Sl Ceqiss o sea|b
B)  sLear @iy Hwrerg Srbg Cun@gh CQFTsgis@Ers@E wrHm CFTss aummbis 2 Fa|b
(C)  sLat gLy fHlwreang Cauibg cumdleann CQarsgis@ wrpmns Qsmdg) aimmbis 2 $a b
D)  sLar ety HlS eramug) epegsans srlienu ey Coum erguilerana
14. Which of the following is not a objectives of accounting?
(A)  Maintenance of Accounting records
(B)  Ascertainment of Profit or Loss
(C)  Depiction of Financial position
(D)  Going concern concept

EpsaaTL cuamassatien ergl sanrsSlwied CHTESRISET @)eana?

(A)
(B)
(©)
D)

043/DM/18
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15.

16.

Double Entry System refers to

(A) Double entry system records both aspects of each transaction i.e debt and undebt

aspects

(B)  This system only the accounts relating to suppliers and customers and cash account

are prepared

(C) This system is complete, accurate and scientific system of recording business

transactions

(D) It helps to find profit and loss easily

Qrieor ufle) wapuild

A)  Qreanh BLeugsms SLmSHL bFrsmend Udle GFiub 2 ryenrd LHMH LOHMLD Sl
NLIBIS6T

B) @bopuid siemefl LHMD sLaBCsTNE OFTSgs SaMEGSHEHD eualsher Grrés
L&55Cw Blreudl&sinhdlemmen

(C) @uueopwureag WewwTs goadlwwrs delwd gribg elpumear Lflaurssamigamer
udley GaiyLd

(D)  emub peyL b savTsEsmen allenreilcr il @uigbd

Going concern concept means
(A) that the business will continue for a long time in future

(B) transactions, which can be measured in terms of money are recorded in books of

accounts

(C)  every business men are able to know the project (or) less of theft concern easily

(D)  nothing but it is only money measurement concept

Blmeuars Qsm_r&sll Qungls smss)

A)  adrsrsde e cuamisd B srtwsdnE CsTLTbg BL&ELD

(B)  LemsSTE® (LaWd EMMiHE smeaied) spUILL bl BLalgsmasar bl GG sambdiudo
uSwinmdlerpen

C) galeurm euaflambd Fog Hneuaddlen oTUD LHMD By sams@Gamer gifls apenmulle
Pluemd

D) @& uewr LHOEHL QuTgEEHSMS S6llT Coumy ergLilerene
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17. Which of the following does not come under Dual aspect concept?

(A)
(B)
©)
D)

It should disclose all information of business activities to his owner
Every transaction of a business is recorded at two places
Transactions, which have actually taken place are recorded in accounting

Nothing but it is only a matching concept

E1p cumeuaTeLDMIET 68l QT L& Seenlowlb CLITgI&@ CuThbsTa

A)  Qsmp FTHS AMBF SseuDEMmaTLD ChiTenw s SbHlneuar (psoreaflsd Celaflliu®ss
Geuawr(hid

B)  gaCerm cuamfles pLogsamauliad @) 1 DEBIGET 2 cTemen

(C)  pLeugsmaser o7gl Hlawns HlaphsCam Dgmar HMID samsdld rhSHIE Qamerer iLi(HLd

D) Qg Qurmssl Qurgissmsams seilt Coum 6FgLsleena

18.  Trial balance means

(A)  Debit and credit balances appear in on a particular ledger accounts

(B)  Recording of receipts of cash and expenditure made in day to day

(C)  Transferring the transaction recorded in the books of original entry in the concerned
accounts in the ledger

(D) It is nothing but balance of accounts

@@UUTL6]| cTeTLg)

(A)

(B)

©)

D)

043/DM/18
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19.

20.

21.

Manufacturing account Means
(A) To ascertain the cost of goods manufactured
(B)  To ascertain the gross profit (or) gross loss made on purchasing

(C) Taking account of expenditure incurred on workers wages, electricity, Rent towards
manufacturing

D) It is nothing but maintenance expenses

2 DLSH & ST E; cTeTLIG)

Q) sumssiulL wiyeyl QurBLsaien 9Lssellammen i Sidleusna

B) Qarerapger Qelwtiul’ L Aummeilamme el bs Gomss @erub, @eru B L& seardhdlaner
2ABlBD

(C)  opusdsars OQewey Qs Ogmfeomarigefler Fbuerd, WeETrD WLWHHID EUTLEHSEWI
san&Sled eT(NS5FISH S TET(ERS6

D)  upmoAiy Qeoejsaer g6y Caup ergidldeana

Which of the following statement are not correct?

(A)  Final Account consists of Manufacturing account

(B)  Final Account consists of Trading account

(C)  Final Account consists of Profit and Loss account

(D)  Final Account consists of Depreciation

&1 au(meuaeud 6T 61 Ffufevene eTeans GOIUIHSET ppevLd damis.
A) QnHs sams@sdr eranmed 2 HLIGH S HanTdhE

B) nHs sars@sdr erampmed SlWLTLITT HewT&HE

C) QnHs sams@sd erammed @6 Bl L & Saré®E

D) Qs samsEser eranmmed CHUiomETLD

Which of the following is not a characteristic of manufacturing account?

(A)  Stock of finished goods

(B) Raw materials consumed

(C)  Partly finished goods

(D)  Provisions for Income Tax

&1 cumeuaeupmET 2 HLGH sarédler @ uidLgaflld org FilLmaTene @)ane TaTLISEET Fnmid.
A) eyl QummmLlsaflen @ uieLser

B) msriulL epeols QummLser

©)  ved pyepp Wige s LT s

(D)  euemwrear auféE 68680
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22.

23.

24.

25.

Which of the following statement is not adjustment entries?

(A)  Closing stock (B) Bad Debts

(C)  Outstanding expenses (D) Income received in advance
Epsar cuenssafld erg #llss HID LI e ST @)DENa CTETLISEMET Jon)s.

@) Qus srsfoiy B)  annssan

(C) Qar®ss Gouerigw GQFaeiemmbiger D) el iqls QubHm euHLLTETD

Which one of the reason for creating secret reserve?

(A) Maintaining a strong financial position

(B) When the claims made are not accepted by Insurance companies

(C)  To avoid paying taxes

(D) Improving the solvency position of the entry

EpsaTL cuanssaied eTanel QrsH s STLILSMET 2 (HeuTE@eus6m CBIESBISET 2 ELD?

A)  aHrumrmoe ghuLd salg BLLBismeTwd GBHmasgsameru|bd Ceuaflwmis@psEs Ggmumoed
Fomeflgse

B)  sUELES swEuelWLb @Liul L Carflgmamw gharsCLing

C)  afl gty Qaiw Ceuemrig wigmed

D)  BmeuarsSer Bl Hlenavenioa b BenL (LPED FLPOSET el LD iFl&MEss Clalige

How many types of Secretaries are there?

A  Six (B) Five
(C)  Three (D) Eight
CTEIGUETE QUESWITET QFLIQTATTSHET 2 ETemenT?

@) <o (B)  zba
©)  apemmy D) &6

Functions of the Secretary may be categorized into

A4 1 B) 5

€ 6 D) 8
Qawiemarilen HL_enLD&HET 6TSgamem euanaL 1L (h&lemmen?

A)  qamn B)  xba
©) <= D) e®
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26.

217.

28.

29.

Which one of the following is not causes for depreciation?

(A) Internal causes (B) External causes

(C)  Due for theft (D) Depreciation fund method
CaWinrang e STTenBIGeTTS 6Teand &(hS6dvena

(A) 2l srrashiser B) Qeuefllsasryeamrmiger

C)  HmeCumen sryanrgdlarme (D) Gswimer Hldpenm

Which one of the following is not a method of providing Depreciation?

(A)  Fixed Instalment system (B) Reducing balance method
(C) Resale method (D) Revaluation method
CaWinmand sarddlLLILIHID (LPEDSETTS 6Tang &(HSeldena

A)  Hleveowmen Feuamar (Lpenm B)  @onbg Agd @ mULipanp
(C) oy elhuenen (pev D)  wowHSEH wpen

Which of the following is not mandatory qualification of the secretary?

(A)  Statutory qualifications

(B)  General Qualifications

(C) Company secretaries qualification

(D) Knowledge of speaking more than One language

EpsarTL cuenssaie erg Gewerarfler (padwrer s@dHwns &ms Coamaiuddamen?
@A) slidug Qupdpes Geueigw sEHser

B)  Qurgleuren g@dsar

(C)  sblueafls ewuerarisdr 5@ eflger

D)  gamee@ Conul L Qurh Cusauams GFMHgHmeSS0

Which of the following is not the powers of the secretary?

(A)  Right to control and Supervision

(B)  Right to sign in the documents

(C)  Rights as a servant

(D)  Allotment of transfer of shares

ﬁla'pasm‘rl_ auanasatle) 678 WFwemarfler iHamynisEnLd&@ 2L (h @dama
Q) sLpuur@b sarsrasiuywn QEub o Mew

B)  Yeummsai msbupsHHLL 2 Manio

C) e eran Hlaneouded Qumbd o Meniser

D) ukiEsmer @g&EH QFisID, LIHM SHSWILD
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30. Which of the following is not the Liability of the secretary?
(A)  Statutory Liabilities (B) Contractual liabilities
(C)  Proper discharge of duties (D) Loss occurred to the society
Epsar cuanasaied erg Gawemarfler QummLiLseT @deme

A) sl el Herer QuTmiiiLigeT B)  uuBs QUTMILILEET

(C)  sLWSMET (PEODUITS ,HMIHED (D) sl (e BeayL D DenLHSHTED
31.  Which of the following is not the classification of Reserves?

(A)  Published Reserves (B) Secret Reserves

(C)  Doubtful Reserves (D) Revenue Reserves

EpsarL cuanssaied erg) sl saflem cuansseET G)eana

Q) Qeuefluiu@ssiul L srliLser B Grsflus sriyser

©O) owssLernsTliLsdr D)  pLUYS s @aer
32.  Which of the following is not a stage for rectification of errors?

(A)  Before the preparation of Trial balance

(B)  Before the Trial balance

(C)  After the preparation of final accounts

(D)  Reconciliation for favourable cash book balance

EpsaL cumssaie erhg Hleneoudled epsamars &g g @uierg?
@A)  @muy Caersemens UL igwie swTi&sLiLBieusnE e

B)  QQns sams@sd swrissliLHeusnE (Lpei

©) Q@ndsamsgsaiar swmiidneEl UAna

(D)  srzswrer Qrrés @@L mHE Flsl (Hse

33. Which of the following is not the Error of Commission?
(A)  Entering correct amount in the correct account but in the wrong side
(B)  Entering wrong amount in the correct side of the correct account
(C)  Entering twice wrongly
(D)  Error of principle
Epsarcumasaile) eThg auans CFlGanpuins S L 1g)?
Q)  sflwuren samsdler sflwnear Agsransamwus seummer LEGHule TS eT(PGIS6D
B)  sflurer semsler sflwumer LGHule seuprer CFTamsamw 6T(LpS)IS56
(C) saumsons uHGCHT aurCeur QHAPEDD CT(LHHISH
(D)  Qsmerensls Genip
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34.

35.

36.

317.

Which of the following does not related with Profit and Loss Account?

(A)  Selling expenses (B) Office expenses

(C) Maintenance expenses (D) Depreciation expenses
Epsart auanssaileh eThg cuans @emu B L& sasdlaner LTSHssrg)?

Q) ANpuemers Ceewalser B)  <euwss gweyser
(C)  upmwAlys Qeweser (D)  Gswiwmer Qewa|ser

Which of the following items does not appear on the debit side of the Trading account?

(A)  Opening stock

(B)  Purchases Returns

(C)  Royalties

(D)  Purchase of machinery

EpsaTL cuenssaied eThg auans eNwTLITTS Savrsdlen LHmL LdsSE D eT(pSLLIHLD G)ambis6T @denea?
@A)  wurungs sresdler QT Ga5 FrédlmLiL

(B)  GQwrss Qsmeripse F@mriub

(C) ofevws Qgrens

D)  ydu Qupdrriiser curbdwig

Which of the following is not the type of cash book?

(A)  Single cash book

(B)  Cash book with discount columns

(C)  Cash book with bank and discount columns

(D)  Petty cash book

Epsart cuanssafleh eThg cuams QITéEs 6l iq.6T CUMESHET G)eena?
A)  smgrgen Qprés or()

B)  sérEpLg LSS Falgw CQFTEs or(h

(C)  eumdl Hmib saTEHULY LSS & @EHL 6 siqw QrTés er ()

D) SHeowey Qrrss or(h

Which of the following is not come under Accounting rules?

(A)  Rule of personal account (B) Rule of Real account
(C)  Rule of Nominal account (D) Rule of Trading account
EpsarTcuamasaile) eThg auans samddler elldls@hs@ o Ul () eurmg)?
A)  yerert samsdlen ol B) Qersgs samsdlen ol
(C)  Quurere}s savrsdlen el (D)  wrunys semsdler 6l
13 043/DM/18
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38. Which of the following is not come under Treatment of special items?
(A)  Donations
(B) Legacy
(C)  Life member fee
(D)  Loss of property
Epsarteupmed ergl Amli 9feurs smsLLL oM Lrg)?
A)  parsrenLger
B) fbabaren
C) w62 mibernt s Lewrbd
(D) Gergg Qi

39. Which of the following is not the advantages of accounting?
(A) Maintenance of business records
(B)  Preparation of financial statement
(C)  Decision making
(D)  Default and Repossession
EpsaTL cuanssaic 618l senddlwadlan BeTeniosEhs@ 2 UL () eurTg?
Q)  aaisl udejsafien lireursd
B)  HS Hlevev odlsemssatien suimilii
(C)  Sirwrenbd eT(hSsHe
D)  seumars QFFSHS HeUMSNID CFTHMS S(HLOL 6T(HESIH CSTETEHSEID

40. Which of the following items are not connected with Balance sheet?
(A)  Capital fund
(B)  Cash balance
(C) Assets
(D)  Valuation of business
Epsan cuenssafld 6rhg 2bFb @) mLiLBlenad @il swrilliugnh@ o LUl L g @)eane.
&) oo HiF
(B) Qprss @wliygser
(C) Qerggisser
D)  cumisgsder LHLEH
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